
Arithmetic Test 10  Name:     Score     /40 
104 – 10 =  0.561 x 1,000 =  

309 x 4 =  72 =  

31 x 5 =  810 ÷ 9 =  

7.1 – 0.9 =  209 – 78 =  

7 x 8 =  78.01 x 10 =  

6,479 + 588 =  6,700 – 923 =  

2.22 + 0.3 =  25% of 3,600 =  

317 x 1 =  𝟏

𝟏𝟐
 + 

𝟕

𝟏𝟐
 = 

409 – 300 =  3.27 x 9 =  

𝟓

𝟔
 - 
𝟏

𝟔
 = 70 x 60 =  
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50,000 + 505 = 14 + 2 x 6 =  

5,680 ÷ 4 =  𝟔

𝟕
 ÷ 2 = 

31.7 – 17.85 =  10 x 1 
𝟏

𝟓
 = 

94 x 26 =  
 
 

[2] 

3 
𝟏

𝟐
 + 1

𝟓

𝟔
 = 

89,402 – 45,691 =  3,692 ÷ 71 =  
 
 

[2] 

5,040 ÷ 16 =  
 
 

[2] 

𝟐

𝟓
 ÷ 5 = 

𝟏

𝟓
 x 

𝟓

𝟓
 = 𝟐

𝟑

𝟏𝟎
 - 
𝟏

𝟑
 = 

779 x 68 =  
 
 

[2] 

35% of 180 =  
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94 29.43 

1236 4200 

155 50505 

6.2 1420 
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2.52 43711 
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90 12 

131 5
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780.1 52 

5777 𝟐
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𝟐

𝟑
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